TR 2 EE—REHTH

EEREVMLELEESSEHES

(m A) (B FH)
I# H 21 £F 26 £F %R Hm =
=Eick 1,498,102 1,498,102 0 HBEMHETRIEE
= A 0 21 A21
BAEEIRA 12 124 A112
BAZ 30,829 104,349 A73,520
Rus 1 1 0
FEIRA 1,441 1,338 103
mAG 1,530,385 1603935  A73,550
(% H)
I# H 21 £F 26 £ # R wm =
BR 1,282 1,282 0
Wi 23,595 23,423 172 EBR-EE-EE
HEE 996,165 1,063,752 |  A67,587 ﬁfﬂﬁﬁ? 754,896
Hh ik e 2R 241,269
NEE 473,095 473,095 0 o 102,089
FE 11,052
BEHRE 35,248 41,383 26,135 —RmO &) 52766
EEE 2,482
FiRE 1,000 1,000 0
AT 1,530,385 1603935  A73,550
(fRERTO&IEENR] (BfL kg FH)
IHE #IHE THE MNERE HHEEE &5 2EE 265E
EEHET | 1,622,100 2,382 26,847 53,173 740895 74.895| 77,125
EAET 32,421,600 | 28584 | 473,051 997,050 1,498,102 1,498,486 |1,498,102

* EEE~HEE100% -BHRBE~EEC0%. CHEEI 0% EEE~HEE 10%. CHEE|90%



